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The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

ST APTRS e for

(@) Who put forward the IS-LM model?
IS-LM =Nf&h1 (e Srmizfee 2

(b) What is the condition for equilibrium in
the goods market?

79 IR SN 56 3 2
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(2)

(c) Define effective demand.

e BIfRWR SR fan |

(d) What is meant by aggregate supply?
SEE et feree [ 3w 2
(e} What is stagflation?

FroerRifs & 2

(/) What is meant by unemployment rate?

e =9 3fercet & @ 2

{g) Give an assumption of multiplier.

BT 51 SSYRT for4T |

(h) What is Balance of Payments?
ECR el 7

(i Give the meaning of demonetization.

Regrae® =i o1 |

(i) What is exchange rate?

R 7R 2
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(3)

2. Answer the following questions : 2x5=10
e PRI Tad fo
(a) What are the components of aggregate
demand? 7
AT SRR SewerrgE f 2

(p) Why is the slope of IS curve negative?

IS @4 T < 12

{¢) Show the differences between Current
Account and Capital Account.

v Bpre W el RBoreR T P
(Y&l | ‘

(d) Mention two features of inflation.

PR o1 ey T < |

e} What are the two types of foreign
exchange market?

e R IeeR yor e R R e

24A/742 ) { Turn Over )



(4)

3. Answer any four of the following questions :
5x4=20

oo PR R @ siRoR Tee o -

(a) Define aggregate demand curve. Why
does the aggregate demand curve slope
downward?

Tl oW @R AwE ffm | AREe sfEm
QAT AT BRI % 2

(b)) What are the limitations of IS-LM
model?

IS-LM % Siyraernz & 2

(¢) Explain the importance of multiplier.
BIFY GFRQ A F91 1

(d What are the measures to control
inflation?

TS fraga Fa7 FeErR R R 2

(e} Define Phillips curve. What does the
short-run Phillips curve show?

fRforep @R A famn | ZREeR Rl @Ik
& o 2
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(S)

() Give the meaning of foreign exchange.
What are the instruments of foreign

exchange?
Gt Rt w11 e Rt
ReAPE & 2
4. Answer the following questions : 10x4=40
o SPPTYRA T foret

fa) Define IS-LM curve. Explain the IS-LM
model with the help of diagram.

ISLMcwaﬁmﬁmulsmmfi‘rﬁlﬁm
TS A F

Or / 92«1
Explain how LM curve is derived.

LM 341 3 =39 391 =, 0401 390 1

{b) Explain the causes of demand-pull and
cost-push inflation.

R SRR W -

FRPTE T 3 |
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(c)

(d)

24A/742

(6)

Or / qq1

Discuss the effects of inflation on
production and distribution.

T e Rerm eos il odem
ST 30 |

What is multiplier? Discuss the working
of multiplier.

@F 3 7 QI IR STCems 41 |

Or / <11

Explain the nature of short-run and
long-run aggregate supply curve.

TREE e TYEEN ANEE @sM @R
#FfS M 397 |

What are the causes of disequilibrium
in Balance of Payments? Mention the
measures to correct the disequilibrium
in Balance of Payments.

AR TR SITNROR FRPE & &2
A T SRSl [RFIR ITEPTIR
Ty 01
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(7)

Or / 5311

What is foreign exchange market?
Explain the functions of foreign
exchange market.

woite R e {2 e R @d
PR I F40 1
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